Rl
N
o=
N
2
Okl
1%
B
of
z
fot

A St AR Eel= ot sty 22t M7 Al A S
ot 21t 7| AlS<tat Stds| M7 ZatE offet o] gttt

f

A _l|-

=
- T =1

HM21ch 7| AS<tar stds] dARS=R 7IZE 4 2ot
(8=E M “IASE

—

oy & e 7|2 58

HT 188 24 11 223

H| = (%) 84.31% 10.76% 4.93% 100%

59.63%

— T—ToT—T PYNT=r—]

B Z1 3K 374 F 223FO0| FEHSIYESLICL FEE 5963%=E HWEE %
=" | 7 = d

l P £ 84.31%, BHCH 10.76%, 7|2 4.93%2 ZAE|
LICH Z|ASstar o] Ao 7| ZE dARSER7t SUEJASE SOYLICL

HASERA
CHA

Q@ |0

# AIZE 22 24412 OlLfol MBS O|9IF 7| AIBO| JHsetm, OloIM 7|7t gt Al 717
B stME| M0 J|ZE MALSEEO THO| HYFS YAS LI

flek Z0| 7[A St} stde| A

_| = o —

N
N
=
mjn
Okl
Ll

9,1'
-
o

» 2o|ARg 7| HBett MAREIUR BO|Z 010-6303-0047

o o

20234 11g 22¢

OfFCHetw 7|AIE

J0|'

I MABE| Y



